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➢ Aşağıdaki parantezli işlemlerin sonucunu 

bulunuz. 

 

• =+ 3521  

 

 

 

• ( )=+ 487  

 

 

 

• ( )=− 1030300  

 

 

 

• =− 33962  

 

 

 

• = 298  

 

 

 

• ( )=+ 31242  

 

 

 

• =− 4528  

 

 

• =− 31672  

 

 

 

• =− 1147  

 

 

 

➢ Aşağıda  verilen işlemlerde verilmeyen 

sayıyı bulunuz. 

  

• ( ) 63532 =+  

 

 

 

• ( ) 9552 =−  

 

 

 

• 17472 =−  

 

 

 

• ( ) 201212 =+  

 

 

 

• ( ) 81182 =−  

 

 

• ( ) 16448 =  

 

 

 

• ( ) 6353 =+  

 

 

 

• 131146 =−  
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